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Distinguish between revenue and non-revenue 1ece1pt I\/Eai_

are the important Sources of fax and’non-tax revente 7
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What do you mean by ‘tazable capacity 7. Distinguish
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(b) Taxable capacity qrd abil ty to pav'“ :
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GROUP—B:

A, D'mn0 the last four decades of planning, India could not
reach the goal of self-sufficiency in food grains”—Do you
agree with this view ? Give reasoms for your answer.
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5. What are the differsnt ‘types of unemployment in Tndia 2
Do you think the medsures acoptvd durigg the sixth and -

1employ jmem from
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- seventh plans are
India 2.

&, C"}.TICB.L) discuss the main fe atires UF India Snew economic
- reforms with- . special - ruzereﬂr‘e J:o atheu_ mdus‘m& policy
of 1991. ; e

7. . What do you mean by “exit poiicv’*« ag initiated recently by
the Government of Iadisa? - Do you think the exit policy
should be. adopted under pl?&cm circumstances ?
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8. Write short nptes on (any}ffbuﬂ e
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(@) "Golden handshak:
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~ (b) Iudia’s balance of -payments position.-

. .v(c),' Public distribution sws*em e T
{dy _U‘hjecrtives of cighth J:we—- ar plan.
(#) Inflationary ﬁse in prices. ° .
(f) Recent secm&fiiy_ scam of Indig; e =
(2) Rese Ban of India. T 10X 4=40
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